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then the value of n is

(A) 1

(B) 4

(C) 3

(D) More than one of the above

(E) None of the above

2. The simplified form of
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(A)
1

6

(B)
2

3

(C)
1

2

(D) More than one of the above

(E) None of the above

3. If A B: :=
1

2

3

8
, B C: :=

1

3

5

9
and

C D: :=
5

6

3

4
, then the ratio

A B C D: : : is

(A) 6 8 9 10: : :

(B) 8 6 10 9: : :

(C) 4 6 8 10: : :

(D) More than one of the above

(E) None of the above

4. Suresh and Shashi complete

a work in 11 days and 17 days

respectively. They received a

remuneration of R5,600 after

completing the work jointly.

Their shares in the remuneration

are respectively

(A) R3,600 and R2,000

(B) R3,400 and R2,200

(C) R3,500 and R2,100

(D) More than one of the above

(E) None of the above

5. A’s weight is 25% of B ’s weight

and 40% of C ’s weight. What

percentage of C ’s weight is B ’s

weight?

(A) 160

(B) 180

(C) 150

(D) More than one of the above

(E) None of the above
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Vmo n H$m _mZ h°

(A) 1

(B) 4

(C) 3

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

2. ( )4 8
1
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2
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èç
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H$m gabrH•$V Í$n h°

(A)
1

6

(B)
2

3

(C)
1

2

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

3. `{X A B: :=
1

2

3

8
, B C: :=

1

3

5

9
Am°a

C D: :=
5

6

3

4
, Vmo A B C D: : : H$m

AZwnmV h°

(A) 6 8 9 10: : :

(B) 8 6 10 9: : :

(C) 4 6 8 10: : :

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

4. gwaoe Am°a e{e EH$ H$m_ H$mo H´$_eÖ 11 {XZm|

Am°a 17 {XZm| _| nyam H$aVo h¢ü& XmoZm| Zo {_bH$a

H$m_ nyam H$aHo$ R5,600 nm[al{_H$ ‡m·

{H$`mü& nm[al{_H$ _| CZHo$ {hÒgo h¢ H´$_eÖ

(A) R3,600 Am°a R2,000

(B) R3,400 Am°a R2,200

(C) R3,500 Am°a R2,100

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

5. A H$m dOZ B Ho$ dOZ H$m 25% Am°a C Ho$

dOZ H$m 40% h°ü& C Ho$ dOZ H$m {H$VZm

‡{VeV B Ho$ dOZ Ho$ ~am~a h°?

(A) 160

(B) 180

(C) 150

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



6. The diameter of a copper sphere

is 6 cm. The sphere is melted

and is drawn into a long wire

of uniform circular cross-

section. If the length of the wire

is 36 cm, then its radius is

(A) 0·5 cm

(B) 1·5 cm

(C) 2 cm

(D) More than one of the above

(E) None of the above

7. Two circles touch internally. The

sum of their areas is 116p cm2

and the distance between their

centres is 6 cm. The radii of the

circles are respectively

(A) 16 cm and 10 cm

(B) 10 cm and 4 cm

(C) 12 cm and 6 cm

(D) More than one of the above

(E) None of the above

8. A fast train takes 3 hours less

than a slow train for a journey

of 600 km. If the speed of the

slow train is 10 km/hr less

than that of the fast train, then

the speeds of the two trains are

respectively

(A) 50 km/hr and 40 km/hr

(B) 30 km/hr and 20 km/hr

(C) 40 km/hr and 30 km/hr

(D) More than one of the above

(E) None of the above

9. The value of x satisfying the

equations

1 1
8

x y
+ = ,

1 1
12

y z
+ = ,

1 1
10

z x
+ =

is

(A) 3

(B)
1

3

(C) 3
1

3

(D) More than one of the above

(E) None of the above

10. There is 50% increase in

an amount in 5 years at

simple interest. What will be the

compound interest of R12,000

after 3 years at the same rate?

(A) R3,972

(B) R6,240

(C) R3,120

(D) More than one of the above

(E) None of the above
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6. Vm±~o Ho$ EH$ Jmobo H$m Ï`mg 6 go0 _r0 h°ü&

Jmobo H$mo {nK>bm`m OmVm h° Am°a EH$g_mZ

d•ŒmmH$ma AZw‡ÒW-H$mQ> Ho$ bÂ~o Vma _| ItMm

OmVm h°ü& `{X Vma H$s bÂ~mB© 36 go0 _r0 h°,

Vmo BgH$s {Ã¡`m h°

(A) 0·5 go0 _r0

(B) 1·5 go0 _r0

(C) 2 go0 _r0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

7. Xmo d•Œm AmßV[aH$ Í$n go Òne© H$aVo h°ßü& CZHo$

joÃ\$bm| H$m `moJ 116p go0 _r0 2 h° Am°a

CZHo$ Ho$›–m| Ho$ ~rM H$s Xyar 6 go0 _r0 h°üü&

d•Œmm| H$s {Ã¡`mE± h¢, H´$_eÖ

(A) 16 go0 _r0 Am°a 10 go0 _r0

(B) 10 go0 _r0 Am°a 4 go0 _r0

(C) 12 go0 _r0 Am°a 6 go0 _r0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

8. EH$ VoO Q¥>oZ 600 {H$0 _r0 H$s `mÃm Ho$ {bE

Yr_r Q¥>oZ go 3 KßQ>o H$_ g_` boVr h°ü& `{X

Yr_r Q¥>oZ H$s J{V, VoO Q¥>oZ H$s J{V go

10 {H$0 _r0/KßQ>m H$_ h°, Vmo XmoZm| Q¥>oZm| H$s

J{V h°ß, H´$_eÖ

(A) 50 {H$0 _r0/KßQ>m Am°a

40 {H$0 _r0/KßQ>m

(B) 30 {H$0 _r0/KßQ>m Am°a

20 {H$0 _r0/KßQ>m

(C) 40 {H$0 _r0/KßQ>m Am°a

30 {H$0 _r0/KßQ>m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

9. g_rH$aUm|

1 1
8

x y
+ = ,

1 1
12

y z
+ = ,

1 1
10

z x
+ =

H$mo g›VwÔ> H$aZo dmbo x H$m _mZ h°

(A) 3

(B)
1

3

(C) 3
1

3

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

10. EH$ am{e _| 5 dfm] _| gmYmaU „`mO go

50% H$s d•{’ hmoVr h°ü& Bgr Xa go

R12,000 H$m 3 dfm] ~mX MH´$d•{’ „`mO

ä`m hmoJm?

(A) R3,972

(B) R6,240

(C) R3,120

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



11. 37 1
2

% of the candidates in an

examination were girls. 75% of

the boys and 62 1
2

% of the girls

passed, and 342 girls failed. The

number of boys failed was

(A) 370

(B) 380

(C) 360

(D) More than one of the above

(E) None of the above

12. Two possible rational numbers

between -
2

3
and

1

2
are

(A)
2

6
,

3

5

(B) -
2

6
,

2

6

(C) -
1

6
,

4

6

(D) More than one of the above

(E) None of the above

13. A father is five times as old as

his son, but after 15 years,

he will remain only twice as

old as his son. What is the age

of the father?

(A) 20 years

(B) 25 years

(C) 30 years

(D) More than one of the above

(E) None of the above

14. Neelu buys lemons at the rate

of 2 lemons in one rupee and

sells them at the rate of

5 lemons in three rupees. Her

profit is

(A) 15%

(B) 18%

(C) 20%

(D) More than one of the above

(E) None of the above

15. In a school, every student offers

either Hindi or English or both.

50·8% offer Hindi and 64·2%

offer English. If the total number

of students is 500, how many

students offer both Hindi and

English?

(A) 60

(B) 65

(C) 75

(D) More than one of the above

(E) None of the above

16. What is the value of the

following?

x x xa b c b c a c a b( ) ( ) ( )- - -× ×

(A) 0

(B) 1

(C) x

(D) More than one of the above

(E) None of the above

16/PV/M–2023–02/201-E 6
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11. EH$ narjm _|, Hw$b A‰`{W©`m| H$m 37 1
2

%

N>mÃmE± Wtü& N>mÃm| H$m 75% VWm N>mÃmAm|

H$m 62 1
2

% g\$b h˛E VWm 342 N>mÃmE±

Ag\$b h˛B™ü& Ag\$b N>mÃm| H$s gßª`m Wr

(A) 370

(B) 380

(C) 360

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

12. -
2

3
Am°a

1

2
Ho$ ~rM _| Xmo gÂ^d n[a_o`

gßª`mE± h¢

(A)
2

6
,

3

5

(B) -
2

6
,

2

6

(C) -
1

6
,

4

6

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

13. EH$ {nVm H$s C_´ CgHo$ nwÃ H$s C_´ H$s nm±M

JwZr h°, bo{H$Z 15 dfm] ~mX CgH$s C_´ CgHo$

nwÃ H$s C_´ H$s Xmo JwZr ah OmEJrü& {nVm H$s

C_´ ä`m h°?

(A) 20 df©

(B) 25 df©

(C) 30 df©

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

14. Zrby EH$ Èn`o _| 2 Zt~y H$s Xa go Zt~y

IarXVr h° Am°a C›h| VrZ Èn`o _| 5 Zt~y H$s

Xa go ~oMVr h°ü& CgH$m bm^ h°

(A) 15%

(B) 18%

(C) 20%

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

15. EH$ {d⁄mb` _|, ‡À`oH$ {d⁄mWu `m Vmo {h›Xr

`m AßJ´oOr `m XmoZm| boVm h°ü& 50·8% {h›Xr

boVo h¢ Am°a 64·2% AßJ´oOr boVo h¢ü& `{X

{d⁄m{W©`m| H$s Hw$b gßª`m 500 hmo, Vmo {H$VZo

{d⁄mWu {h›Xr Am°a AßJ´oOr XmoZm| boVo h¢?

(A) 60

(B) 65

(C) 75

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

16. {ZÂZ{b{IV H$m _mZ ä`m h°?

x x xa b c b c a c a b( ) ( ) ( )- - -× ×

(A) 0

(B) 1

(C) x

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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17. Geostationary satellite rotates

(A) at any height above the

Poles

(B) at a fixed height

(C) at the height depending on

mass

(D) More than one of the above

(E) None of the above

18. Which colour has the maximum

deviation in the dispersion of

white light passing through the

prism?

(A) Green

(B) Red

(C) Violet

(D) More than one of the above

(E) None of the above

19. During thunderstorm, it is safer

to

(A) carry an open umbrella

(B) take shelter under short

tree

(C) stand in open field

(D) More than one of the above

(E) None of the above

20. When a body falls freely towards

the Earth, then its total energy

(A) decreases

(B) increases

(C) remains constant

(D) More than one of the above

(E) None of the above

21. In eye donation, which part of

the donor’s eye is transplanted?

(A) Lens

(B) Cornea

(C) Whole eye

(D) More than one of the above

(E) None of the above

22. What is the chemical name of

vitamin B12?

(A) Thiamin

(B) Cobalamin

(C) Niacin

(D) More than one of the above

(E) None of the above

23. Which of the following is an

acid-base indicator?

(A) Vinegar

(B) Turmeric

(C) Baking soda

(D) More than one of the above

(E) None of the above

24. When the soil is too basic,

plants do not grow in it.

To improve the quality, what

must be added to the soil?

(A) Organic matter

(B) Quicklime

(C) Calamine solution

(D) More than one of the above

(E) None of the above
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17. ^y-pÒWa CnJ´h Ky_Vm h°

(A) Y´wdm| Ho$ D$na {H$gr ^r D±$MmB© na

(B) pÒWa D±$MmB© na

(C) Cg D±$MmB© na, Omo –Ï`_mZ na {Z^©a hmo

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

18. {‡µµ¡_ ¤mam g\o$X ‡H$me Ho$ n[ajonU _|

H$m°Z-gm aßJ A{YH$V_ {dM{bV hmoVm h°?

(A) ham

(B) bmb

(C) ~¢JZr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

19. _oKJO©Z Ho$ g_`, {ZÂZ{b{IV _| go ä`m

gwa{jV h°?

(A) Iwbr N>Var boH$a MbZm

(B) N>moQ>o noãS> Ho$ ZrMo Aml` boZm

(C) Iwbr OJh _| IãS>o ahZm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

20. ÒdVßÃ Í$n go n•œdr H$s Amoa {JaVo h˛E {ZH$m`

H$s Hw$b D$Om©

(A) KQ>Vr h°

(B) ~ãT>Vr h°

(C) pÒWa ahVr h°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

21. ZoÃ XmZ _|, XmVm H$s Am±I Ho$ {H$g {hÒgo H$mo

‡{Vamo{nV {H$`m OmVm h°?

(A) bo›g

(B) H$m∞{Z©`m

(C) nyar Am±I

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

22. {dQ>m{_Z B12 H$m amgm`{ZH$ Zm_ ä`m h°?

(A) Wm`{_Z

(B) H$mo~mbm{_Z

(C) {Z`m{gZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

23. {ZÂZ{b{IV _| go H$m°Z-gm AÂb-jma H$m

gßHo$VH$ h°?

(A) {gaH$m

(B) hÎXr

(C) ImZo dmbm gmoS>m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

24. O~ _•Xm A{Vjmar` hmo VWm Cg_| nm°Yo n°Xm

Zht hmoVo hm|, V~ _•Xm H$s JwUdŒmm _| gwYma Ho$

{bE ä`m {_bmZm Mm{hE?

(A) H$m~©{ZH$ nXmW©

(B) {~Zm ~yPm MyZm

(C) H°$bm_mBZ H$m Kmob

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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25. What is the value of absolute

zero on the Fahrenheit scale?

(A) 0 °F

(B) –22 °F

(C) –459·4 °F

(D) More than one of the above

(E) None of the above

26. Which type of waves are light

waves?

(A) Transverse waves

(B) Longitudinal waves

(C) Electromagnetic waves

(D) More than one of the above

(E) None of the above

27. What is the pH value of a salt

made up of a strong acid and

a weak base?

(A) More than 7

(B) Less than 7

(C) Between 10 to 14

(D) More than one of the above

(E) None of the above

28. One gigabyte (GB) is equal to

(A) 1024 KB

(B) 1024 MB

(C) 1024 GB

(D) More than one of the above

(E) None of the above

29. Sodium hydroxide and

hydrochloric acid react to form

sodium chloride and water.

Which reaction is this?

(A) Neutralization

(B) Dissolution

(C) Combination

(D) More than one of the above

(E) None of the above

30. What does the cell usually use

to produce energy?

(A) Amino acid

(B) Glucose

(C) Fatty acid

(D) More than one of the above

(E) None of the above

31. What is the function of the

pituitary gland?

(A) To develop sex organs in

males

(B) To stimulate growth in all

organs

(C) To regulate sugar and salt

levels in the body

(D) More than one of the above

(E) None of the above

32. Which parts of the brain control

blood pressure?

(A) Spinal cord, skull, hypo-

thalamus

(B) Spinal cord, skull, cerebrum

(C) Pons, medulla, cerebellum

(D) More than one of the above

(E) None of the above
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25. \$maoZhmBQ> n°_mZo na na_ ey›` H$m _mZ {H$VZm

hmoVm h°?

(A) 0 °F

(B) –22 °F

(C) –459·4 °F

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

26. ‡H$me VaßJ| {H$g ‡H$ma H$s VaßJ| hmoVr h¢?

(A) AZw‡ÒW VaßJ|

(B) AZwX°ø`© VaßJ|

(C) {d⁄wV≤-MwÂ~H$s` VaßJ|

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

27. ‡~b AÂb Am°a Xw~©b jmaH$ go ~Zo bdU

H$m pH _mZ ä`m h°?

(A) 7 go A{YH$

(B) 7 go H$_

(C) 10 Am°a 14 Ho$ ~rM

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

28. EH$ JrJm~mBQ> (GB) ~am~a hmoVm h°

(A) 1024 KB

(B) 1024 MB

(C) 1024 GB

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

29. gmo{S>`_ hmBS¥>m∞ägmBS> Am°a hmBS¥>moäbmo[aH$

AÂb H$s A{^{H´$`m go gmo{S>`_ äbmoamBS> Am°a

Ob ~ZVo h¢ü& `h H$m°Z-gr A{^{H´$`m h°?

(A) CXmgrZrH$aU

(B) {dKQ>Z

(C) gß`moOZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

30. D$Om© CÀnmXZ Ho$ {bE H$mo{eH$m ‡m`Ö {H$gH$m

Cn`moJ H$aVr h°?

(A) A_rZmo AÂb

(B) ΩbyH$moO

(C) dgm AÂb

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

31. nr`yf J´ß{W H$m H$m`© ä`m h°?

(A) nwÈfm| _| `m°Z AßJm| H$mo {dH${gV H$aZm

(B) g^r AßJm| _| d•{’ H$mo ‡moÀgm{hV H$aZm

(C) eara _| MrZr Am°a Z_H$ Ho$ ÒVa H$mo

{Z`ß{ÃV H$aZm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

32. _pÒVÓH$ Ho$ H$m°Z-go ^mJ a∫$Mmn H$mo {Z`ß{ÃV

H$aVo h¢?

(A) arãT> H$s h»>r, ImonãS>r, hmBnmoW°bo_g

(B) arãT> H$s h»>r, ImonãS>r, goao~´_

(C) nm|g, _oSw>bm, go[a~ob_

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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33. India has announced to

establish a Net Zero Innovation

Virtual Centre in collaboration

with which country?

(A) Russia

(B) Britain

(C) Brazil

(D) More than one of the above

(E) None of the above

34. What is the total number

of seats for MPs in the

newly inaugurated Parliament

of India?

(A) 888

(B) 1272

(C) 1326

(D) More than one of the above

(E) None of the above

35. Which online platform has

been launched by the Indian

Government for farmers’

insurance claims?

(A) Kushal Platform

(B) Grain Platform

(C) DigiClaim Platform

(D) More than one of the above

(E) None of the above

36. Who has been appointed as the

head of ‘Moon to Mars Program’

of NASA?

(A) Amit Kshatriya

(B) Sumit Kshatriya

(C) K. Sivan

(D) More than one of the above

(E) None of the above

37. According to the Bihar

Prohibition and Excise

(Amendment) Act, 2022, the

vehicles transporting liquor will

be released by paying what

percent of their insurance cover

as penalty?

(A) 30

(B) 50

(C) 10

(D) More than one of the above

(E) None of the above
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33. ^maV Zo {H$g Xoe Ho$ gmW {_bH$a ZoQ> Oramo

BZmodoeZ dMw©Ab g|Q>a ~ZmZo H$s KmofUm

H$s h°?

(A) Í$g

(B) {~´Q>oZ

(C) ~´mOrb

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

34. ^maV H$s Zd-CX≤Km{Q>V gßgX _| gmßgXm| Ho$

{bE Hw$b {H$VZr grQ>| h¢?

(A) 888

(B) 1272

(C) 1326

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

35. ^maV gaH$ma Zo {H$gmZ ~r_m Xmdm| Ho$ {bE

H$m°Z-gm Am∞ZbmBZ flboQ>\$m∞_© bm∞›M {H$`m h°?

(A) Hw$eb flboQ>\$m∞_©

(B) J´oZ flboQ>\$m∞_©

(C) {S{Oäbo_ flboQ>\$m∞_©

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

36. Zmgm Ho$ "_yZ Qy> _mg© ‡moJ´m_' Ho$ ‡_wI Ho$ Í$n

_| {H$›h| {Z`w∫$ {H$`m J`m h°?

(A) A{_V j{Ã`

(B) gw{_V j{Ã`

(C) Ho$0 {gdZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

37. {~hma _⁄-{ZfoY Am°a CÀnmX-ewÎH$ (gßemoYZ)

A{Y{Z`_, 2022 Ho$ AZwgma, eam~ H$s

T>wbmB© H$aZo dmbo dmhZm| H$mo N>moãS>Zo hoVw

Ow_m©Zo Ho$ Í$n _| CZH$s ~r{_V am{e H$m

{H$VZm ‡{VeV XoZm hmoJm?

(A) 30

(B) 50

(C) 10

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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38. Which country has manufac-

tured the passenger plane C919

to compete Airbus and Boeing?

(A) India

(B) China

(C) Britain

(D) More than one of the above

(E) None of the above

39. Kriti Raj Singh is related with

which sport?

(A) Weightlifting

(B) Badminton

(C) Cricket

(D) More than one of the above

(E) None of the above

40. According to the Industrial

Development Ranking, 2022,

released by the Bihar Industries

Department, which district has

topped?

(A) Siwan

(B) Gaya

(C) Darbhanga

(D) More than one of the above

(E) None of the above

41. Which of the following can

a court issue for enforcement of

the Fundamental Rights?

(A) Decree

(B) Writ

(C) Ordinance

(D) More than one of the above

(E) None of the above

42. Which of the following dams is

located on the Mahanadi river?

(A) Hirakud Dam

(B) Dudhawa Dam

(C) Ghumarapadar Dam

(D) More than one of the above

(E) None of the above

43. Al-Aqsa Mosque, which was in

news recently, is located in

which city?

(A) Rome

(B) Jerusalem

(C) Riyadh

(D) More than one of the above

(E) None of the above
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38. E`a~g Edß ~moB™J go _wH$m~bo Ho$ {bE {H$g

Xoe Zo C919 `mÃr {d_mZ ~Zm`m h°?

(A) ^maV

(B) MrZ

(C) {~´Q>oZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

39. H•${V amO qgh {H$g Iob go gÂ~{›YV h°?

(A) ^mamoŒmmobZ

(B) ~°S>q_Q>Z

(C) {H´$Ho$Q>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

40. {~hma C⁄moJ {d^mJ ¤mam Omar Am°⁄mo{JH$

{dH$mg a¢qH$J, 2022 _| {H$g {Obo Zo gdm}É

ÒWmZ ‡m· {H$`m h°?

(A) {gdmZ

(B) J`m

(C) Xa^ßJm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

41. _m°{bH$ A{YH$mam| H$mo bmJy H$aZo Ho$ {bE

›`m`mb` {ZÂZ{b{IV _| go {H$go Omar H$a

gH$Vm h°?

(A) {S>H´$s

(B) [aQ>

(C) A‹`mXoe

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

42. {ZÂZ{b{IV _| go H$m°Z-gm ~m±Y _hmZXr na

pÒWV h°?

(A) hramHwß$S> ~m±Y

(B) XwYdm ~m±Y

(C) Kw_amnXa ~m±Y

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

43. Ab-Aägm _pÒOX, Omo hmb hr _| I~am|

_| Wr, {H$g eha _| pÒWV h°?

(A) amo_

(B) OoÍ$gb_

(C) [a`mX

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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44. Which of the following countries

is the member of the NATO?

(A) Belgium

(B) Canada

(C) Denmark

(D) More than one of the above

(E) None of the above

45. The statement, “One Earth,

One Family, One Future” is

associated with

(A) G–7

(B) G–20

(C) BRICS

(D) More than one of the above

(E) None of the above

46. Which of the following

statements is correct regarding

QUAD?

(A) QUAD is a strategic forum

of four nations—India, US,

Japan and Australia.

(B) Its genesis was in 2004.

(C) The intention was to

enhance maritime coopera-

tion among the four

nations.

(D) More than one of the above

(E) None of the above

47. Kautilya was a professor of

Political Science and Economics

at

(A) Nalanda

(B) Pataliputra

(C) Takshashila

(D) More than one of the above

(E) None of the above

48. Which of the following

statements is correct about

the 1781 Revolt in Bihar?

(A) It was an uprising by the

Zamindars.

(B) It was a revolt by the

farmers.

(C) The British were able to

put down the revolt without

too much trouble.

(D) More than one of the above

(E) None of the above
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44. {ZÂZ{b{IV _| go H$m°Z-gm Xoe ZmQ>mo

(NATO) H$m gXÒ` h°?

(A) ~opÎO`_

(B) H$ZmS>m

(C) S>oZ_mH©$

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

45. H$WZ ""EH$ n•œdr, EH$ n[adma, EH$ ^{dÓ`''

{H$gHo$ gmW gÂ~’ h°?

(A) G–7

(B) G–20

(C) BRICS

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

46. QUAD Ho$ gÂ~›Y _|, {ZÂZ{b{IV _| go

H$m°Z-gm H$WZ ghr h°?

(A) QUAD Mma Xoem|—^maV, A_arH$m,

OmnmZ Am°a Am∞ÒQ¥>o{b`m H$m EH$

aUZr{VH$ _ßM h°ü&

(B) BgH$s CÀn{Œm 2004 _| h˛B© Wrü&

(C) BgH$m Mma Xoem| Ho$ ~rM g_w–r gh`moJ

H$mo ~ãT>mZo H$m BamXm Wmü&

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

47. H$m°{Q>Î` {H$g ÒWmZ _| amOZr{V-{dkmZ Am°a

AW©emÛ Ho$ ‡m‹`mnH$ W>o?

(A) ZmbßXm

(B) nmQ>{bnwÃ

(C) Vj{ebm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

48. {~hma _| 1781 Ho$ {d–moh Ho$ ~mao _|,

{ZÂZ{b{IV _| go H$m°Z-gm H$WZ ghr h°?

(A) `h O_tXmam| ¤mam {H$`m J`m {d–moh Wmü&

(B) `h {H$gmZm| ¤mam {H$`m J`m {d–moh Wmü&

(C) AßJ´oO {~Zm {H$gr naoemZr Ho$ {d–moh H$mo

Hw$MbZo _| g\$b ahoü&

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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49. Which of the following falls

under ‘Frigid Zone’?

(A) Area lying between 661
2
° N

latitude and North Pole

(B) Area lying between 231
2
°

and 661
2
° latitudes in both

Hemispheres

(C) Area lying between

Antarctic Circle and South

Pole

(D) More than one of the above

(E) None of the above

50. The part of the Himalayas lying

between Satluj and Kali rivers

is known as which of the

following?

(A) Kumaon Himalayas

(B) Assam Himalayas

(C) Nepal Himalayas

(D) More than one of the above

(E) None of the above

51. Which of the following

statements is true?

(A) As per the 2011 Census,

Sikkim has a population of

6 lakhs.

(B) Uttar Pradesh is the largest

State in India in terms of

area.

(C) India accounts for

2·6 percent of the world’s

area.

(D) More than one of the above

(E) None of the above

52. What should be the desired

percent of forest area in the

total geographical area of the

country as outlined in the

National Forest Policy of 1952

in India?

(A) 25

(B) 33

(C) 39

(D) More than one of the above

(E) None of the above
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49. {ZÂZ{b{IV _| go H$m°Z-gm "erV H${Q>~ßY' _|

AmVm h°?

(A) 661
2
° CŒmar Ajmße Am°a CŒmar Y´wd Ho$

~rM pÒWV joÃ

(B) XmoZm| Jmobm’m] _| 231
2
° Am°a 661

2
°

Ajmßem| Ho$ ~rM pÒWV joÃ

(C) X{jU Y´wdd•Œm (AßQ>mH©${Q>H$ d•Œm) Am°a

X{jUr Y´wd Ho$ ~rM pÒWV joÃ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

50. gVbwO Am°a H$mbr Z{X`m| Ho$ ~rM pÒWV

{h_mb` Ho$ ^mJ H$mo {ZÂZ{b{IV _| go {H$g

Zm_ go OmZm OmVm h°?

(A) Hw$_mD±$ {h_mb`

(B) Ag_ {h_mb`

(C) Zonmb {h_mb`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

51. {ZÂZ{b{IV _| go H$m°Z-gm H$WZ ghr h°?

(A) 2011 H$s OZJUZm Ho$ AZwgma,

{g{∏$_ H$s OZgßª`m 6 bmI h°ü&

(B) joÃ\$b H$s —{Ô> go CŒma ‡Xoe ^maV H$m

g~go ~ãS>m am¡` h°ü&

(C) ^maV H$m joÃ\$b {dÌd Ho$ joÃ\$b H$m

2·6 ‡{VeV h°ü&

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

52. ^maV _|, 1952 H$s amÔ¥>r` dZ Zr{V _|

C{Ñ{IV Xoe Ho$ Hw$b ^m°Jmo{bH$ joÃ _| dZ

joÃ H$m dmß{N>V ‡{VeV {H$VZm hmoZm Mm{hE?

(A) 25

(B) 33

(C) 39

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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53. Which of the following is the

local name of ‘Jhumming’?

(A) Bewar

(B) Dahiya

(C) Podu

(D) More than one of the above

(E) None of the above

54. What is the name given to

a large apartment in Amazon

basin having a steeply slanting

roof ?

(A) Manioc

(B) Maloca

(C) Cassava

(D) More than one of the above

(E) None of the above

55. The historical Dakshinapath

region is situated in between

(A) Vindhyachal range and

Krishna river

(B) Vindhyachal range and

Cauvery river

(C) Satpura range and Nilgiri

(D) More than one of the above

(E) None of the above

56. The major water divides

between Arabian Sea and Bay

of Bengal drainage are

(A) Delhi ridge, Malwa plateau

and Bundelkhand

(B) Delhi ridge, Aravalli range,

Sahyadri and Amarkantak

hills

(C) Delhi ridge, Malwa plateau

and Chota Nagpur plateau

(D) More than one of the above

(E) None of the above
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53. {ZÂZ{b{IV _| go H$m°Z-gm "ÒWmZm›Var H•${f'

H$m ÒWmZr` Zm_ h°?

(A) ~oda

(B) X{h`m

(C) nmoXw

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

54. A_oµOZ ~o{gZ _oß EH$ ~ãS>o _H$mZ H$mo ä`m Zm_

{X`m J`m h°, {OgH$s N>V H$s {VaN>r IãS>r

T>mb hmoVr h°?

(A) _°{ZAmoH$

(B) _bmoH$m

(C) H$gmdm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

55. Eo{Vhm{gH$ X{jUmnW Zm_H$ joÃ H$m {dÒVma h°

(A) {d›‹`mMb nd©VloUr go H•$ÓUm ZXr

Ho$ _‹`

(B) {d›‹`mMb nd©VloUr go H$mdoar ZXr

Ho$ _‹`

(C) gVnwãS>m nd©VloUr go Zrb{Jar Ho$ _‹`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

56. Aa~ gmJa Am°a ~ßJmb H$s ImãS>r Ho$ Andmh

V›Ã Ho$ ~rM _wª` Ob-{d^mOH$ h°ß

(A) {XÑr [aO, _mbdm H$m nR>ma Am°a

~w›XobI�S>

(B) {XÑr [aO, Aamdbr nd©VloUr, g¯m{–

Am°a A_aHß$Q>H$ H$s nhm{ãS>`m±

(C) {XÑr [aO, _mbdm H$m nR>ma Am°a

N>moQ>mZmJnwa H$m nR>ma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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57. The place of origin of Western

Disturbances active in North-

Western India in winter

season is

(A) Asia Minor

(B) Western Asia

(C) Mediterranean coastal area

of Western Asia

(D) More than one of the above

(E) None of the above

58. According to G. T. Trewartha,

the area of Am type climate

in India is

(A) Meghalaya plateau

(B) Western Ghats

(C) Coromandel coastal region

(D) More than one of the above

(E) None of the above

59. The local names of rice crops

produced in Northern India in

winter are

(A) Aman, Aghani and Aus

(B) Aman, Sali and Aghani

(C) Aman, Aus and Sali

(D) More than one of the above

(E) None of the above

60. Which of the following is not

a peculiarity of middle Gangetic

plain agroclimatic region?

(A) Located in Ganga and its

tributaries’ drainage area

(B) Extended in more than two

States

(C) Receives more than 100 cm

rain annually

(D) More than one of the above

(E) None of the above
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57. erVH$mb _| CŒma-npÌM_ ^maV _| g{H´$` ahZo

dmbo npÌM_r {djmo^ H$m CÀn{Œm-ÒWb h°

(A) E{e`m _mBZa

(B) npÌM_r E{e`m

(C) npÌM_r E{e`m H$m ^y_‹`gmJar` VQ>r`

joÃ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

58. Or0 Q>r0 {Q¥>dmWm© Ho$ AZwgma, ^maV _| Am

‡H$ma H$s Obdm`w H$m joÃ h°

(A) _oKmb` H$m nR>ma

(B) npÌM_r KmQ

(C) H$moamo_�S>b VQ>r` joÃ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

59. CŒmar ^maV _| erVH$mb _| CnOm`r OmZo dmbr

Mmdb H$s \$gbm| Ho$ ÒWmZr` Zm_ h¢

(A) A_Z, AJhZr Am°a Am°g

(B) A_Z, gmbr Am°a AJhZr

(C) A_Z, Am°g Am°a gmbr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

60. {ZÂZ{b{IV _| go H$m°Z-gr _‹`dVu JßJm

Ho$ _°XmZr H•${f-Obdm`w ‡Xoe H$s {deofVm

Zht h°?

(A) `h JßJm Am°a CgH$s ghm`H$ Z{X`m| Ho$

Andmh joÃ _| pÒWV h°

(B) BgH$m Xmo go A{YH$ am¡`m| _| {dÒVma h°

(C) `hm± ‡{V df© 100 go0 _r0 go A{YH$

dfm© hmoVr h°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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61. Who among the following was

associated with the newspaper,

New India ?

(A) Mahatma Gandhi

(B) Annie Besant

(C) Surendranath Banerjee

(D) More than one of the above

(E) None of the above

62. Who organized the ‘Swadesh

Bandhav Samiti’ during the

Indian Freedom Struggle?

(A) Ashwini Kumar Dutta

(B) Batukeshwar Dutta

(C) Surya Sen

(D) More than one of the above

(E) None of the above

63. Who accompanied Mahatma

Gandhi during the Champaran

Indigo Movement?

(A) Narhari Parikh

(B) Mahadev Desai

(C) Abdul Bari

(D) More than one of the above

(E) None of the above

64. On which date Linlithgow

ordered to fire on the mob of

Patna and its surrounding

during the August Revolution,

1942?

(A) 5th August

(B) 15th August

(C) 25th August

(D) More than one of the above

(E) None of the above

65. In which year was the

‘Bihar Prantiya Kisan Sabha’

established?

(A) 1920

(B) 1924

(C) 1929

(D) More than one of the above

(E) None of the above

66. Which of the following revolts

took place due to the imposition

of tax on keeping of long beard?

(A) Faraizi

(B) Pagalpanti

(C) Wahabi

(D) More than one of the above

(E) None of the above
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61. BZ_| go H$m°Z g_mMma-nÃ, ›`y Bß{S>`m go

gÂ~p›YV Wo/Wr?

(A) _hmÀ_m Jm±Yr

(B) EoZr ~ogo›Q>

(C) gwao›–ZmW ~ZOu

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

62. ^maVr` ÒdVßÃVm gßKf© Ho$ Xm°amZ {H$gZo

"ÒdXoe ~m›Yd g{_{V' H$m JR>Z {H$`m Wm?

(A) ApÌdZr Hw$_ma XŒm

(B) ~Qw>Ho$Ìda XŒm

(C) gy`© goZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

63. MÂnmaU Zrb Am›XmobZ Ho$ Xm°amZ _hmÀ_m

Jm±Yr Ho$ gmW H$m°Z Wo?

(A) Zah[a nmarI

(B) _hmXod XogmB©

(C) A„Xwb ~mar

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

64. {H$g {V{W H$mo AJÒV H´$mp›V, 1942 Ho$

Xm°amZ {bZ{bWJmo Zo nQ>Zm Edß BgHo$ Amgnmg

H$s ^rãS> na Jmobr MbmZo H$m AmXoe {X`m Wm?

(A) 5 AJÒV

(B) 15 AJÒV

(C) 25 AJÒV

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

65. {H$g df© "{~hma ‡m›Vr` {H$gmZ g^m' H$m

JR>Z {H$`m J`m Wm?

(A) 1920

(B) 1924

(C) 1929

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

66. {ZÂZ{b{IV _| go H$m°Z-gm {d–moh/Am›XmobZ

bÂ~r XmãT>r aIZo na H$a bJmE OmZo Ho$ H$maU

h˛Am Wm?

(A) \$amOr Am›XmobZ

(B) nmJbnßWr {d–moh

(C) dhm~r Am›XmobZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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67. In which conspiracy case, three

Englishmen were detained on

conspiracy charges?

(A) Nasik Conspiracy Case

(B) Kanpur Conspiracy Case

(C) Meerut Conspiracy Case

(D) More than one of the above

(E) None of the above

68. The Poona Pact aimed at

(A) formation of federation with

Princely States

(B) women representation in

the Indian National

Congress

(C) political representation of

depressed class

(D) More than one of the above

(E) None of the above

69. Where was the first All India

Congress Socialist Conference

held?

(A) Patna

(B) Bhagalpur

(C) Muzaffarpur

(D) More than one of the above

(E) None of the above

70. Who was the author of

Biography of Kunwar Singh and

Amar Singh ?

(A) M. N. Roy

(B) Kalikinkar Datta

(C) Jawaharlal Nehru

(D) More than one of the above

(E) None of the above

71. Subhas Chandra Bose became

the President of the Indian

National Congress in Tripuri

Session by defeating

(A) Pattabhi Sitaramayya

(B) Rash Behari Bose

(C) Jawaharlal Nehru

(D) More than one of the above

(E) None of the above

72. Which of the following is true

about Dr. B. R. Ambedkar?

(A) He published Mooknayak.

(B) He founded ‘Bahishkrit

Hitakarini Sabha’.

(C) He passed away in 1956.

(D) More than one of the above

(E) None of the above
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67. {H$g fS≤>`ßÃ Ho$ _m_bo _|, VrZ AßJ´oOm| H$mo

gm{Oe H$aZo Ho$ {bE H$mamJma _| AdÈ’ {H$`m

J`m Wm?

(A) Zm{gH$ fS≤>`ßÃ _m_bm

(B) H$mZnwa fS≤>`ßÃ _m_bm

(C) _oaR> fS≤>`ßÃ _m_bm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

68. nyZm n°äQ> H$m C‘oÌ` Wm

(A) [a`mgVm| Ho$ gmW gßK H$m {Z_m©U

(B) ^maVr` amÔ¥>r` H$m±J´og _| _{hbmAm| H$m

‡{V{Z{YÀd

(C) X{bV dJ© H$m amOZr{VH$ ‡{V{Z{YÀd

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

69. ‡W_ A{Ib ^maVr` H$m±J´og g_mOdmXr

gÂ_obZ H$hm± h˛Am Wm?

(A) nQ>Zm

(B) ^mJbnwa

(C) _wO‚\$anwa

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

70. ~m`moJ´m\$s Am∞\$ Hwß$da qgh Eo›S> A_a qgh
Ho$ boIH$ H$m°Z h¢?

(A) E_0 EZ0 am∞`

(B) H$mbrqH$H$a XŒm

(C) Odmhabmb ZohÍ$

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

71. gw^mf M›– ~mog ^maVr` amÔ¥>r` H$m±J´og Ho$

{Ãnwar A{YdoeZ _| {H$gH$mo hamH$a A‹`j

~Zo Wo?

(A) n≈>m{^ grVma_°Ê`m

(B) amg{~hmar ~mog

(C) Odmhabmb ZohÍ$

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

72. S>m∞0 ~r0 Ama0 AÂ~oS>H$a Ho$ {df` _|,

{ZÂZ{b{IV _| go ä`m gÀ` h°?

(A) C›hm|Zo _yH$Zm`H$ H$m ‡H$meZ {H$`mü&

(B) C›hm|Zo "~{hÓH•$V {hVH$m[aUr g^m' H$s

ÒWmnZm H$sü&

(C) CZH$m 1956 _| XohmßV hmo J`mü&

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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73. Match List–I with List–II and

select the correct answer using

the codes given below the Lists :

List—I

(Names of

movements)

List—II

(Their related

important centres)

a. Movement of Indigo

Planters

1. Ahmedabad

b. Peasant Satyagraha 2. Champaran

c. Cotton Mill Workers

Satyagraha

3. Khera

d. Movement to cut

off the Non-

Cooperation

4. Chauri Chaura

Codes :

(A) a b c d

1 2 3 4

(B) a b c d

3 4 2 1

(C) a b c d

2 3 1 4

(D) More than one of the above

(E) None of the above

74. Freedom of Press in India is

available to the people because

(A) it is available to the people

under the Law of the

Parliament

(B) it is specially provided in

the Constitution of India

(C) it is implied in the Right to

Freedom of Expression

(D) More than one of the above

(E) None of the above

75. Match List–I with List–II and

select the correct answer using

the codes given below the Lists :

List—I

(Available resources

in some provinces)

List—II

(Names of the

related provinces)

a. Rich in mineral

resources but lacks

industrialization

1. Jharkhand

b. Rich in water

resources but lacks

infrastructure deve-

lopment

2. Arunachal

Pradesh

c. Rich in solar and

wind energy but

lacks water resources

3. Rajasthan

d. Rich in mineral

resources but lacks

the means of trans-

portation and com-

munication

4. Ladakh

Codes :

(A) a b c d

3 4 1 2

(B) a b c d

1 2 3 4

(C) a b c d

2 1 4 3

(D) More than one of the above

(E) None of the above
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73. gyMr–I H$mo gyMr–II go gw_o{bV H$s{OE Am°a

gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CŒma

H$m M`Z H$s{OE :

gyMr–I

(Am›XmobZm| Ho$ Zm_)

gyMr–II

(CZgo gÂ~p›YV

_hŒdnyU© Ho$›–)

a. Zrb Ho$ nm°Yo bJmZo dmbm|
H$m Am›XmobZ

1. Ah_Xm~mX

b. Io{Vha gÀ`mJ´h 2. MÂnmaU

c. H$nmg {_b _OXyam| H$m
gÀ`mJ´h

3. Ioam

d. Agh`moJ Am›XmobZ H$mo
~ßX H$aZo Ho$ {bE
Am›XmobZ

4. Mm°ar Mm°am

Hy$Q> :

(A) a b c d

1 2 3 4

(B) a b c d

3 4 2 1

(C) a b c d

2 3 1 4

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

74. ^maV _| ‡og H$s ÒdVßÃVm bmoJm| H$mo ‡m· h°,

ä`m|{H$

(A) `h gßgX H$s {d{Y Ho$ VhV bmoJm| Ho$

{bE Cnb„Y h°

(B) `h ^maV Ho$ gß{dYmZ _| {deof Í$n go

‡XŒm h°

(C) `h {dMmam{^Ï`{∫$ H$s ÒdVßÃVm Ho$

A{YH$ma _| {Z{hV h°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

75. gyMr–I H$mo gyMr–II go gw_o{bV H$s{OE Am°a

gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CŒma

H$m M`Z H$s{OE :

gyMr–I

(Hw$N> ‡m›Vm| _| gßgmYZm|

H$s Cnb„YVm)

gyMr–II

(gÂ~p›YV ‡m›Vm|

Ho$ Zm_)

a. I{ZO gßgmYZm| H$s
gÂnfiVm na›Vw C⁄moJr-
H$aU H$s H$_r

1. PmaIßS>

b. Ob gßgmYZm| H$s gÂnfiVm
na›Vw AmYma^yV gßaMZm Ho$
{dH$mg H$s H$_r

2. AÈUmMb ‡Xoe

c. gm°a Am°a dm`w D$Om© H$s
gÂnfiVm na›Vw Ob
gßgmYZm| H$s H$_r

3. amOÒWmZ

d. I{ZO gßgmYZm| H$s
gÂnfiVm na›Vw n[adhZ Am°a
gßMma Ho$ gmYZm| H$s H$_r

4. b‘mI

Hy$Q> :

(A) a b c d

3 4 1 2

(B) a b c d

1 2 3 4

(C) a b c d

2 1 4 3

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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76. A medicinal plant named

‘Himalayan yew’ is found in

which of the following provinces

of India?

(A) Himachal Pradesh and

Arunachal Pradesh

(B) Uttarakhand and Madhya

Pradesh

(C) Jammu & Kashmir and

Assam

(D) More than one of the above

(E) None of the above

77. The ‘Overseas Indian Citizenship

(OIC) Scheme’ was introduced

by which of the following Acts

in India?

(A) The Citizenship (Amendment)

Act, 2003

(B) The Citizenship Act, 1955

(C) The Citizenship (Amendment)

Act, 2019

(D) More than one of the above

(E) None of the above

78. Which of the following may be

known as the main cause of

disappearing the rigid caste

system in India?

(A) The Constitution and its

basic structure

(B) The social reforms and

economic development

(C) The growth of literacy and

education

(D) More than one of the above

(E) None of the above

79. The Ministry of Panchayati Raj

was created in the Central

Government of India in which

of the following years?

(A) 2002–2003

(B) 2004

(C) 2005–2006

(D) More than one of the above

(E) None of the above

80. Who among the following

believed that “a communist

society was the natural society

of the future”?

(A) Karl Marx

(B) Friedrich Engels

(C) Robert Owen

(D) More than one of the above

(E) None of the above

81. Who among the following is

the author of the book,

The Social Contract ?

(A) Thomas Hobbes

(B) John Locke

(C) Jean-Jacques Rousseau

(D) More than one of the above

(E) None of the above
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76. "{h_mb`Z `y' Zm_H$ Am°fYr` nm°Ym, ^maV Ho$

{ZÂZ{b{IV _oß go {H$Z ‡m›Vm| _| nm`m

OmVm h°?

(A) {h_mMb ‡Xoe VWm AÈUmMb ‡Xoe

(B) CŒmamIßS> VWm _‹` ‡Xoe

(C) OÂ_y Am°a H$Ì_ra VWm Ag_

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

77. "g_w–nmar` ^maVr` ZmJ[aH$Vm (Amo0AmB0gr0)

`moOZm' ^maV _| {ZÂZ{b{IV _| go {H$g

A{Y{Z`_ ¤mam ‡maß^ H$s JB© Wr?

(A) ZmJ[aH$Vm (gßemoYZ) A{Y{Z`_,

2003

(B) ZmJ[aH$Vm A{Y{Z`_, 1955

(C) ZmJ[aH$Vm (gßemoYZ) A{Y{Z`_,

2019

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

78. {ZÂZ{b{IV _| go H$m°Z-gm ^maV _| H$R>moa

Om{V Ï`dÒWm Ho$ bmon hmoZo Ho$ _wª` H$maU Ho$

Í$n _oß OmZm Om gH$Vm h°?

(A) gß{dYmZ VWm BgH$s AmYma^yV gßaMZm

(B) gm_m{OH$ gwYma Edß Am{W©H$ {dH$mg

(C) gmjaVm Edß {ejm {dH$mg

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

79. ^maV H$s Ho$›–r` gaH$ma H$m nßMm`Vr amO

_ßÃmb` {ZÂZ{b{IV _| go {H$g df© {Z{_©V

h˛Am Wm?

(A) 2002–2003

(B) 2004

(C) 2005–2006

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

80. BZ_| go H$m°Z {dÌdmg H$aVm Wm {H$ ""EH$

gmÂ`dmXr g_mO ^{dÓ` H$m ‡mH•${VH$ g_mO

Wm''?

(A) H$mb© _mäg©

(B) \´o$S>[aH$ EßJoÎg

(C) am∞~Q>© AmodoZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

81. BZ_| go H$m°Z {X gmoeb H$m∞›Q¥>°äQ> nwÒVH$ H$m

boIH$ h°?

(A) Wm∞_g hm∞„g

(B) Om∞Z bm∞H$

(C) OrZ-O°äg Í$gmo

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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82. Which of the following

movements was launched

against multipurpose projects

in India?

(A) Narmada Bachao Andolan

(B) Tehri Dam Andolan

(C) Chipko Andolan

(D) More than one of the above

(E) None of the above

83. Which of the following is the

Fundamental Duty under the

Constitution of India?

(A) To uphold the unity and

integrity of India

(B) To protect the natural

environment

(C) To provide educational

opportunities to own child

(D) More than one of the above

(E) None of the above

84. Who wrote Pakistan or the

Partition of India ?

(A) Muhammad Iqbal

(B) Muhammad Ali Jinnah

(C) Dr. Bhimrao Ramji

Ambedkar

(D) More than one of the above

(E) None of the above

85. When was Ireland forcibly

incorporated into the United

Kingdom?

(A) 1707

(B) 1798

(C) 1801

(D) More than one of the above

(E) None of the above

86. Who started ‘Sarva Shiksha

Abhiyan’?

(A) Indira Gandhi

(B) Narasimha Rao

(C) Atal Bihari Vajpayee

(D) More than one of the above

(E) None of the above

87. When did Sri Lanka become

independent?

(A) 1945

(B) 1947

(C) 1948

(D) More than one of the above

(E) None of the above

88. ‘Annapurna Yojana’ ration card

is for

(A) older and poor people above

65 years

(B) above poverty line families

(C) below poverty line families

(D) More than one of the above

(E) None of the above
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82. {ZÂZ{b{IV Am›XmobZm| _oß go {H$gH$m ^maVdf©

Ho$ A›VJ©V, ~h˛C‘oer` n[a`moOZmAm| Ho$ {dÈ’

eŵ maß^ {H$`m J`m Wm?

(A) Z_©Xm ~MmAmo Am›XmobZ

(B) {Q>har ~m±Y Am›XmobZ

(C) {MnH$mo Am›XmobZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

83. {ZÂZ{b{IV _| go H$m°Z-gm ^maV Ho$ gß{dYmZ

Ho$ A›VJ©V, _yb H$V©Ï` h°>?

(A) Xoe H$s EH$Vm Edß AIßS>Vm H$mo H$m`_

aIZm

(B) ‡mH•${VH$ n`m©daU H$mo gwa{jV H$aZm

(C) AnZo ~Éo H$mo e°{jH$ Adga ‡XmZ

H$aZm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

84. nm{H$ÒVmZ Am∞a {X nm{Q>©eZ Am∞\$ Bp›S>`m
{H$gZo {bIm Wm?

(A) _whÂ_X BH$~mb

(B) _whÂ_X Abr {Ofimh

(C) S>m∞0 ^r_amd am_Or AÂ~oS>H$a

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

85. Am`ab°›S> H$mo O~aXÒVr `yZmBQ>oS> qH$JS>_ _|

H$~ {_bm`m J`m?

(A) 1707

(B) 1798

(C) 1801

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

86. "gd© {ejm A{^`mZ' {H$gZo ‡maß^ {H$`m?

(A) Bp›Xam Jm±Yr

(B) Za{gÂhm amd

(C) AQ>b {~hmar dmOno`r

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

87. lrbßH$m H$~ ÒdVßÃ h˛Am?

(A) 1945

(B) 1947

(C) 1948

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

88. "A›ZnyUm© `moOZm' ameZ H$mS>© {H$gHo$ {bE h°?

(A) d•’ d Jar~ bmoJ, Omo 65 df© go

A{YH$ Ho$ hmoß

(B) Jar~r aoIm Ho$ D$na dmbo n[adma

(C) Jar~r aoIm Ho$ ZrMo dmbo n[adma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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89. Y-shaped energy flow model in

ecosystem was proposed by

(A) Odum

(B) Lindeman

(C) Clements

(D) More than one of the above

(E) None of the above

90. SO2 pollution is indicated by

(A) orchids

(B) mangroves

(C) lichens

(D) More than one of the above

(E) None of the above

91. The Salim Ali Bird Sanctuary is

located in

(A) Uttar Pradesh

(B) Madhya Pradesh

(C) West Bengal

(D) More than one of the above

(E) None of the above

92. The IUCN Headquarters is in

(A) Switzerland

(B) France

(C) Australia

(D) More than one of the above

(E) None of the above

93. How much energy is consumed

from one trophic level to another

trophic level?

(A) 5%

(B) 10%

(C) 15%

(D) More than one of the above

(E) None of the above

94. Pneumatophores are present in

(A) hydrophytes

(B) xerophytes

(C) halophytes

(D) More than one of the above

(E) None of the above

95. Which of the following is a

secondary pollutant?

(A) PAN

(B) SO2

(C) Ozone

(D) More than one of the above

(E) None of the above

96. The 10% law of energy flow in

ecosystem was proposed by

(A) Lindeman

(B) Hückel

(C) Elton

(D) More than one of the above

(E) None of the above
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89. nm[apÒW{VH$ VßÃ _| Y-AmH$ma H$m D$Om© ‡dmh

_m∞S>b {H$gHo$ ¤mam {X`m J`m Wm?

(A) AmoS>_

(B) {b›S>_°Z

(C) päb_o›Q≤>g

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

90. SO2 ‡XyfU gy{MV hmoVm h°

(A) Am{H©$S ¤mam

(B) _¢J´mod ¤mam

(C) bmBHo$Z ¤mam

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

91. gbr_ Abr njr A^`ma�` pÒWV h°

(A) CŒma ‡Xoe _|

(B) _‹` ‡Xoe _|

(C) npÌM_ ~ßJmb _|

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

92. AmB0 `y0 gr0 EZ0 _wª`mb` H$hm± h°?

(A) pÒdQ≤>Oab¢S>

(B) \´$mßg

(C) Am∞ÒQ¥>o{b`m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

93. EH$ nmofr ÒVa go Xygao nmofr ÒVa _| {H$VZr

D$Om© Ademo{fV hmoVr h°?

(A) 5%

(B) 10%

(C) 15%

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

94. ÌdgZ_yb {H$g_| nmE OmVo h¢?

(A) Obmo{ÿX≤

(B) _Í${ÿX≤

(C) bdUmo{ÿX≤

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

95. {ZÂZ{b{IV _| go H$m°Z-gm {¤Vr`H$

‡XyfH$ h°?

(A) PAN

(B) SO2

(C) AmoµOmooZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

96. nm[apÒW{VH$ VßÃ _| D$Om© ‡dmh H$m 10%

{Z`_ {X`m J`m Wm

(A) {b›S>>_°Z ¤mam

(B) hH$b ¤mam

(C) EÎQ>Z ¤mam

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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97. In India, tropical rain forests are

found in

(A) Karnataka

(B) Himachal Pradesh

(C) Kerala

(D) More than one of the above

(E) None of the above

98. The major source of methane

in India is

(A) wheat field

(B) sugarcane field

(C) rice field

(D) More than one of the above

(E) None of the above

99. The layer of atmosphere having

lowest temperature is

(A) stratosphere

(B) troposphere

(C) mesosphere

(D) More than one of the above

(E) None of the above

100. The increase in concentration of

toxic substances in successive

trophic level is referred to as

(A) eutrophication

(B) biomagnification

(C) bioaccumulation

(D) More than one of the above

(E) None of the above

101. Which of the following acts as

a pioneer species in a xerarch

succession?

(A) Lichen

(B) Human

(C) Herb

(D) More than one of the above

(E) None of the above

102. The Ramsar Convention is

associated with the conservation

of

(A) drylands

(B) wetlands

(C) forests

(D) More than one of the above

(E) None of the above

103. Itai-itai disease is caused by

(A) mercury

(B) iron

(C) cadmium

(D) More than one of the above

(E) None of the above

104. Which one of the following

is not included under in situ

conservation?

(A) Botanical Garden

(B) National Park

(C) Wildlife Sanctuary

(D) More than one of the above

(E) None of the above
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97. ^maV _| CÓUH${Q>~ßYr` dfm© dZ nmE OmVo h¢

(A) H$Zm©Q>H$ _|

(B) {h_mMb ‡Xoe _|

(C) Ho$ab _|

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

98. ^maV _| _rWoZ H$m _wª` ÚmoV h°

(A) Johˇ± H$m IoV

(B) Jfio H$m IoV

(C) YmZ H$m IoV

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

99. dm`w_ßS>b H$s {H$g naV H$m Vmn_mZ g~go H$_

hmoVm h°?

(A) g_Vmn_ßS>b

(B) jmo^_ßS>b

(C) _‹`_ßS>b

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

100. H´${_H$ nmofr ÒVa _| {dfm∫$ nXmWm] H$s gm›–Vm

_| d•{’ H$mo H$hm OmVm h°

(A) gwnmofU

(B) O°d AmdY©Z

(C) O°d gßM`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

101. {ZÂZ{b{IV _| go H$m°Z-gm/gr ewÓH$VmaÂ^r

AZwH´$_U _| AJ´Jm_r ‡Om{V Ho$ Í$n _| H$m`©

H$aVm/H$aVr h°?

(A) bmBHo$Z

(B) _ZwÓ`

(C) OãS>r-~yQ>r

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

102. am_ga gÂ_obZ {H$gHo$ gßajU go OwãS>m h°?

(A) ewÓH$^y{_

(B) Am–©^y{_

(C) dZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

103. BQ>mB©-BQ>mB© amoJ {H$gHo$ H$maU hmoVm h°?

(A) nmam

(B) bmohm

(C) H°$S≤>{_`_

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

104. {ZÂZ{b{IV _| go H$m°Z-gm ÒdÒWmZo (BZ≤ grQy>)
gßajU Ho$ AYrZ em{_b Zht h°?

(A) dZÒn{V C⁄mZ

(B) amÔ¥>r` C⁄mZ

(C) d›`Ord A^`ma�`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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105. How many 4-digit numbers

can be formed using the digits

0, 1, 2, 3, 4 without repetition?

(A) 120

(B) 54

(C) 45

(D) More than one of the above

(E) None of the above

106. If the word HEIGHT is coded

as 96108921 and LOOSE is

coded as 131616206, then the

code for MOBILE, in the same

language, is

(A) 1416310136

(B) 1416411136

(C) 1416312136

(D) More than one of the above

(E) None of the above

107. Arrange the following words in

logical order :

1. Associate Professor

2. Professor

3. Assistant Professor

Select the correct answer using

the codes given below.

(A) 2, 3, 1

(B) 2, 1, 3

(C) 1, 2, 3

(D) More than one of the above

(E) None of the above

108. A person divides some items

among four children. The first

child gets
1

2
of the total items

and the second child gets
1

4
of

the first child. The third child

gets
3

4
of the first child. The

fraction of the items the fourth

child gets is

(A)
3

4
of the total items

(B)
3

8
of the total items

(C)
1

4
of the total items

(D) More than one of the above

(E) None of the above
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105. {~Zm Xmohamd Ho$ AßH$ 0, 1, 2, 3, 4 H$m

Cn`moJ H$aVo h˛E {H$VZr 4-AßH$s` gßª`mE±

~ZmB© Om gH$Vr hß°?

(A) 120

(B) 54

(C) 45

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

106. `{X e„X HEIGHT H$mo 96108921 Ho$

Í$n _| H$mo{S>V {H$`m J`m h° Am°a LOOSE

H$mo 131616206 Ho$ Í$n _| H$mo{S>V {H$`m

J`m h°, Vmo Cgr ^mfm _| MOBILE Ho$ {bE

H$moS> h°

(A) 1416310136

(B) 1416411136

(C) 1416312136

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

107. {ZÂZ{b{IV e„Xm| H$mo Vm{H©$H$ H´$_ _|

Ï`dpÒWV H$s{OE :

1. gh-‡m‹`mnH$

2. ‡m‹`mnH$

3. ghm`H$ ‡m‹`mnH$

ZrMo {XE JE Hy$Q> H$m ‡`moJ H$aVo h˛E ghr

CŒma H$m M`Z H$s{OEü&

(A) 2, 3, 1

(B) 2, 1, 3

(C) 1, 2, 3

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

108. EH$ Ï`{∫$ Mma ~Ém| Ho$ ~rM Hw$N> dÒVwAm|

H$mo ~m±Q>Vm h°ü& nhbo ~¿Mo H$mo Hw$b dÒVwAm|

H$m
1

2
{_bVm h° Am°a Xygao ~Éo H$mo nhbo ~Éo

H$m
1

4
{_bVm h°ü& Vrgao ~Éo H$mo nhbo ~Éo

H$m
3

4
{_bVm h°ü& Mm°Wo ~Éo H$mo {H$VZm Aße

{_bVm h°?

(A) Hw$b dÒVwAm| H$m
3

4

(B) Hw$b dÒVwAm| H$m
3

8

(C) Hw$b dÒVwAm| H$m
1

4

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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109. If the area of a square is equal

to the area of an equilateral

triangle, the ratio of the side

of the square and the side of

the equilateral triangle is

(A) 1 1:

(B) 2 1:

(C) 3 2:

(D) More than one of the above

(E) None of the above

110. Find the wrong number in the

series given below :

3, 8, 13, 21, 31, 43

(A) 21

(B) 31

(C) 8

(D) More than one of the above

(E) None of the above

111. Find the wrong number from

the table given below :

2 4 1 5

6 12 3 15

18 36 9 45

54 108 27 100

(A) 9

(B) 36

(C) 100

(D) More than one of the above

(E) None of the above

112. Let a = 10 cm, b = 3 cm and

c = 6 cm. Which of the following

is true?

(A) a, b and c are the sides of

a triangle.

(B) a, b and c form right-angled

triangle.

(C) a, b and c form isosceles

triangle.

(D) More than one of the above

(E) None of the above

113. Madan’s brother’s uncle is

Karan’s father’s brother. What

can be the relationship between

Madan and Karan?

(A) Madan is Karan’s uncle

(B) Madan is Karan’s brother

(C) Madan is Karan’s son

(D) More than one of the above

(E) None of the above

114. Find the missing letters in the

series given below :

Y, T, O, _____, _____

(A) J, E

(B) J, D

(C) K, F

(D) More than one of the above

(E) None of the above
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109. `{X dJ© H$m joÃ\$b, g_~mh˛ {Ã^wO Ho$

joÃ\$b Ho$ ~am~a h°, Vmo dJ© H$s ^wOm Am°a

g_~mh˛ {Ã^wO H$s ^wOm H$m AZwnmV h°

(A) 1 1:

(B) 2 1:

(C) 3 2:

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

110. ZrMo Xr JB© ˚m•ßIbm _| JbV gßª`m kmV

H$s{OE :

3, 8, 13, 21, 31, 43

(A) 21

(B) 31

(C) 8

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

111. ZrMo Xr JB© Vm{bH$m go JbV gßª`m kmV

H$s{OE :

2 4 1 5

6 12 3 15

18 36 9 45

54 108 27 100

(A) 9

(B) 36

(C) 100

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

112. _mZm a = 10 go0 _r0, b = 3 go0 _r0 Am°a

c = 6 go0 _r0ü& {ZÂZ{b{IV _oß go H$m°Z-gm

gÀ` h°?

(A) a, b Am°a c {Ã^wO H$s ^wOm h¢ü&

(B) a, b Am°a c g_H$moU {Ã^wO ~ZmVo h¢ü&

(C) a, b Am°a c g_{¤~mh˛ {Ã^wO ~ZmVo h¢ü&

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

113. _XZ Ho$ ^mB© Ho$ AßH$b, H$aU Ho$ {nVm Ho$

^mB© h°ßü& _XZ Am°a H$aU _| ä`m gÂ~›Y hmo

gH$Vm h°?

(A) _XZ, H$aU H$m AßH$b h°

(B) _XZ, H$aU H$m ^mB© h°

(C) _XZ, H$aU H$m nwÃ h°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

114. {ZÂZ{b{IV ˚m•ßIbm _| go bw· Aja kmV

H$s{OE :

Y, T, O, _____, _____

(A) J, E

(B) J, D

(C) K, F

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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115. How many triangles are there

in the figure given below?

(A) 13

(B) 11

(C) 15

(D) More than one of the above

(E) None of the above

116. Asha walks 3 km southward

and then turns right and

walks 2 km. She again turns

right and walks 3 km, and then

turns towards her left and

starts walking straight. In which

direction is she walking now?

(A) North

(B) West

(C) East

(D) More than one of the above

(E) None of the above

117. Find the wrong number in the

series given below :

28, 84, 112, 196, 308, 504, 872

(A) 112

(B) 308

(C) 872

(D) More than one of the above

(E) None of the above

118. In a certain code, ‘256’ means

‘you are good’; ‘637’ means

‘we are bad’ and ‘358’ means

‘good and bad’. Which of the

following digits represents ‘and’

in that code?

(A) 2

(B) 5

(C) 8

(D) More than one of the above

(E) None of the above

119. Six roads lead to a country.

They may be indicated by the

letters X, Y, Z and the digits

1, 2, 3. When there is a storm,

Y is blocked. When there are

floods, X, 1 and 2 will be

affected. When road 1 is

blocked, Z is also blocked.

At a time, when there are

floods and a storm also blows,

which road can be used?

(A) 3

(B) Y

(C) Z

(D) More than one of the above

(E) None of the above

120. In a certain code, DELHI is

written as CCIDD. How is

BOMBAY written in that code?

(A) AJMTVT

(B) MJXVSU

(C) AMJXVS

(D) More than one of the above

(E) None of the above
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115. ZrMo Xr JB© AmH•${V _oß {H$VZo {ÃH$moU h¢?

(A) 13

(B) 11

(C) 15

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

116. Amem 3 {H$0 _r0 X{jU H$s Amoa MbVr h°

Am°a {\$a XmE± _wãS>H$a 2 {H$0 _r0 MbVr h°ü&

dh {\$a go XmE± _wãS>H$a 3 {H$0 _r0 MbVr h°

Am°a AnZo ~mE± _wãS>Vr h° Am°a grYm MbZm

ewÍ$ H$aVr h°ü& A~ dh {H$g {Xem _| Mb

ahr h°?

(A) CŒma

(B) npÌM_

(C) nyd©

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

117. ZrMo Xr JB© ˚m•ßIbm _| JbV gßª`m kmV

H$s{OE :

28, 84, 112, 196, 308, 504, 872

(A) 112

(B) 308

(C) 872

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

118. {H$gr {ZpÌMV Hy$Q _|, "256' H$m AW© h°

"you are good'; "637' H$m AW© h°

"we are bad' Am°a "358' H$m AW© h°

"good and bad'. Cgr Hy$Q _|

{ZÂZ{b{IV _| go H$m°Z-gm AßH$ "and'

Xem©Vm h°?

(A) 2

(B) 5

(C) 8

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

119. N>Ö gãS>H|$ EH$ Xoe H$s Amoa OmVr h¢ü& C›h|

X, Y, Z Ajam| Am°a 1, 2, 3 AßH$m| ¤mam

Bß{JV {H$`m Om gH$Vm h°ü& O~ Vy\$mZ AmVm h°,

Y AdÈ’ hmo OmVr h°ü& O~ ~mãT> AmVr h°,

X, 1 Am°a 2 ‡^m{dV hmoVr h¢ü& O~ gãS>H$

1 AdÈ’ hmoVr h°, Z ^r AdÈ’ hmo OmVr h°ü&

EH$ hr g_` na O~ ~mãT> Am OmE Am°a

Vy\$mZ ^r MbZo bJo, Vmo {H$g gãS>H$ H$m

Cn`moJ {H$`m Om gH$Vm h°?

(A) 3

(B) Y

(C) Z

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

120. {H$gr {ZpÌMV Hy$Q _|, DELHI H$mo

CCIDD {bIm OmVm h°ü& Cgr Hy$Q> _|

BOMBAY H$mo H°$go {bI|Jo?

(A) AJMTVT

(B) MJXVSU

(C) AMJXVS

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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SPACE FOR ROUGH WORK / aµ\$ H$m`© Ho$ {bE ÒWmZ
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16/PV/M–2023–02 nwpÒVH$m ˚m•ßIbm

CÂ_rXdma H$m AZwH´$_mßH$

‡ÌZ-nwpÒVH$m

gm_m›` A‹``Z
nÃ—2

‡ÌZm| Ho$ CŒma XoZo go nhbo ZrMo {bIo AZwXoem| H$mo ‹`mZ go nãT> b|ü&

_hŒdnyU© AZwXoe
1. Bg ‡ÌZ-nwpÒVH$m  _| Hw$b 120 ‡ÌZ h¢ü&
2. g^r ‡ÌZm|  Ho$  AßH$  g_mZ h¢ü&
3. narjm AmaÂ^ hmoVo hr Amn AnZr ‡ÌZ-nwpÒVH$m H$s Om±M H$a XoI b| {H$ BgHo$ D$na Xm`t Amoa ‡ÌZ-nwpÒVH$m H$s

˚m•ßIbm _w{–V h°ü& H•$n`m Om±M b| {H$ nwpÒVH$m _| aµ\$ H$m`© hoVw Mma n•>m| (n•> gßª`m 44 go 47) g{hV nyao 48 _w{–V
n•> h¢ Am°a H$moB© ‡ÌZ `m n•> {~Zm N>nm h˛Am `m \$Q>m h˛Am `m Xmo~mam Am`m h˛Am Vmo Zht h°ü& nwpÒVH$m _| {H$gr ‡H$ma
H$s Ãw{Q> nmZo na VÀH$mb BgHo$  ~Xbo Bgr ˚m•ßIbm  H$s Xygar ghr nwpÒVH$m  bo  b|ü&

4. Bg  n•>  Ho$  D$na {ZYm©[aV ÒWmZ _| AnZm AZwH´$_mßH$ AdÌ`  {bI|ü& ‡ÌZ-nwpÒVH$m na Am°a Hw$N>  Z  {bI|ü&
5. ‡ÌZm| Ho$ CŒma XoZo Ho$ {bE AmnH$mo drjH$ ¤mam AbJ go CŒma nÃH$ {X`m Om òJmü& AnZo CŒma nÃH$ Ho$ n•>-1 na {ZYm©[aV

ÒWmZ _| AnZm Zm_, AZwH´$_mßH$, ‡ÌZ-nwpÒVH$m ˚m•ßIbm VWm A›` {ddaU AdÌ` {bI| A›`Wm AmnH$m CŒma nÃH$
Om±Mm Zht Om`oJmü&

6. CŒma nÃH$ Ho$ n•>-2 na {ZYm©[aV ÒWmZ _| AnZo AZwH´$_mßH$ VWm ‡ÌZ-nwpÒVH$m H$s ˚m•ßIbm E, F, G `m H O°gm Bg
‡ÌZ-nwpÒVH$m Ho$ AmdaU n•> Ho$ D$na Xm`t Amoa Aß{H$V h°, go gÂ~p›YV d•Œm H$mo H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ go AdÌ`
Hy$Q>~’ H$a|ü& CŒma nÃH$ na ‡ÌZ-nwpÒVH$m ˚m•ßIbm Aß{H$V Zht H$aZo AWdm JbV ˚m•ßIbm Aß{H$V H$aZo na CŒma nÃH$
H$m  ghr _yÎ`mßH$Z Zht hmoJmü&

7. Bg ‡ÌZ-nwpÒVH$m _| g^r ‡ÌZ Am°a CZHo$ CŒma AßJóOr Edß {h›Xr _| _w{–V h¢ü& ‡À òH$ ‡ÌZ Ho$ nm±M CŒmaçç(A), (B), (C), (D)

Am°a (E) H´$_ na {X`o J`o h¢ü& CZ_| go Amn g~go ghr Ho$db EH$ CŒma H$mo MwZ| Am°a AnZo CŒma nÃH$ na Aß{H$V H$a|ü& AmnH$m
Hw$b ‡m·mßH$ AmnHo$ ¤mam CŒma nÃH$  _|  Aß{H$V ghr CŒmam| na {Z^©a hmoJmü&

8. CŒma nÃH$ _| ‡À òH$ ‡ÌZ gßª`m Ho$ gm_Zo nm±M d•Œm Bg ‡H$ma ~Zo h˛E h¢çç , , , Am°a ü& ‡ÌZm| Ho$ CŒma XoZo Ho$
{bE AmnH$mo AnZr ng›X Ho$ Ho$db EH$ d•Œm H$mo H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ go {M{ïV H$aZm h°ü& ‡À òH$ ‡ÌZ Ho$
{bE Ho$db EH$ CŒma H$mo MwZ| Am°a Cgo AnZo CŒma nÃH$ _| {M{ïV H$a|ü& Amn CŒma nÃH$ _| `{X EH$ ‡ÌZ Ho$ {bE EH$ go A{YH$
d•Œm _| {ZemZ bJmVo h¢, Vmo AmnH$m CŒma JbV _mZm Om òJmü& CŒma nÃH$ _| CŒma H$mo {M{ïV H$aZo Ho$ {bE Ho$db H$mbr/Zrbr
Ò`mhr Ho$  ~m∞b-nm∞B›Q> noZ H$m  hr  ‡`moJ H$a|ü&  {H$gr  ^r ‡H$ma  H$m  H$mQ>-Hy$Q> AWdm n[adV©Z  _m›` Zht h°ü&

9. `{X {H$gr ‡ÌZ _| {H$gr ‡H$ma H$s H$moB© _w–U `m Vœ`mÀ_H$ ‡H$ma H$s Ãw{Q> hmo, Vmo ‡ÌZm| Ho$ AßJóOr VWm {h›Xr Í$nm›Vam| _| go
AßJóOr Í$nm›Va H$mo  _mZH$  _mZm Om òJmü&

10. CÂ_rXdma ¤mam ‡À òH$ ‡ÌZ Ho$ {bE EH$ JbV CŒma Ho$ {bE ‡ÌZ hoVw {Z`V {H$E JE AßH$m| H$m EH$-Mm°WmB© X�S> Ho$ Í$n _| H$mQ>m
Om òJmü&

11. ‡ÌZ-nwpÒVH$m go H$moB© nfim \$mãS>Zm `m AbJ H$aZm _Zm h°ü& ‡ÌZ-nwpÒVH$m Am°a CŒma nÃH$ H$mo narjm H$s Ad{Y _| narjm ^dZ go
~mha H$Xm{n Z bo Om`|ü& narjm Ho$ g_mnZ na CŒma nÃH$ drjH$ H$mo AdÌ` gm¢n X|ü& CgHo$ ~mX AmnH$mo AnZr ‡ÌZ-nwpÒVH$m
AnZo gmW bo OmZo H$s AZw_{V  h°ü&

12. D$na Ho$ AZwXoem| _| go {H$gr EH$ H$m ^r nmbZ Zht H$aZo na Amn na Am`moJ Ho$ {ddoH$mZwgma H$ma©dmB© H$s Om gH$Vr h° AWdm
AmnH$mo X�S>  {X`m  Om gH$Vm h°ü&

13. A‰`Wu CŒma nÃH$ H$mo AnZr CnpÒW{V _| Self Adhesive LDPE Bag _| nyar Vah go n°H$/grb H$admZo Ho$ Cnam›V hr
narjm  H$j  H$mo  N>moãS>|ü&

Note : English version of the instructions is printed on the First Page of this Booklet.
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